01:51:34.828 Port COM2 opened

01:51:34.843 Baud rate set to 115200

01:51:34.843 Parity set to No

01:51:34.843 1 Stop bit set

01:51:34.843 Word length set to 8

01:51:34.859 1B 01 00 01 0E 01 14 

01:51:34.859 <ESC><SOH><NUL><SOH><SO><SOH><DC4>

01:51:34.859 1B 01 00 0B 0E 01 00 08 41 56 52 49 53 50 5F 32 74 

01:51:34.859 <ESC><SOH><NUL><VT><SO><SOH><NUL><BS>AVRISP_2t

01:51:34.859 1B 02 00 02 0E 03 90 86 

01:51:34.859 <ESC><STX><NUL><STX><SO><ETX>�†

01:51:34.875 1B 02 00 03 0E 03 00 0F 18 

01:51:34.875 <ESC><STX><NUL><ETX><SO><ETX><NUL><SI><CAN>

01:51:34.875 1B 03 00 02 0E 03 91 86 

01:51:34.875 <ESC><ETX><NUL><STX><SO><ETX>‘†

01:51:34.890 1B 03 00 03 0E 03 00 02 14 

01:51:34.890 <ESC><ETX><NUL><ETX><SO><ETX><NUL><STX><DC4>

01:51:34.890 1B 04 00 02 0E 03 92 82 

01:51:34.890 <ESC><EOT><NUL><STX><SO><ETX>’‚

01:51:34.906 1B 04 00 03 0E 03 00 0A 1B 

01:51:34.906 <ESC><EOT><NUL><ETX><SO><ETX><NUL><LF><ESC>

01:51:34.953 1B 05 00 02 0E 03 9A 8B 

01:51:34.953 <ESC><ENQ><NUL><STX><SO><ETX>š‹

01:51:34.953 1B 05 00 03 0E 03 00 00 10 

01:51:34.953 <ESC><ENQ><NUL><ETX><SO><ETX><NUL><NUL><DLE>

01:51:34.968 1B 06 00 02 0E 03 98 8A 

01:51:34.968 <ESC><ACK><NUL><STX><SO><ETX>˜Š

01:51:34.968 1B 06 00 03 0E 03 00 02 11 

01:51:34.968 <ESC><ACK><NUL><ETX><SO><ETX><NUL><STX><DC1>

01:52:06.797 1B 07 00 02 0E 03 90 83 

01:52:06.797 <ESC><BEL><NUL><STX><SO><ETX>�ƒ

01:52:06.812 1B 07 00 03 0E 03 00 0F 1D 

01:52:06.812 <ESC><BEL><NUL><ETX><SO><ETX><NUL><SI><GS>

01:52:06.812 1B 08 00 02 0E 03 9A 86 

01:52:06.812 <ESC><BS><NUL><STX><SO><ETX>š†

01:52:06.828 1B 08 00 03 0E 03 00 00 1D 

01:52:06.828 <ESC><BS><NUL><ETX><SO><ETX><NUL><NUL><GS>

01:52:06.828 1B 09 00 02 0E 03 90 8D 

01:52:06.828 <ESC><HT><NUL><STX><SO><ETX>�Ť

01:52:06.843 1B 09 00 03 0E 03 00 0F 13 

01:52:06.843 <ESC><HT><NUL><ETX><SO><ETX><NUL><SI><DC3>

01:52:06.843 1B 0A 00 02 0E 03 9F 81 

01:52:06.843 <ESC><LF><NUL><STX><SO><ETX>ź�

01:52:06.859 1B 0A 00 03 0E 03 00 01 1E 

01:52:06.859 <ESC><LF><NUL><ETX><SO><ETX><NUL><SOH><RS>

01:52:06.890 1B 0B 00 03 0E 02 9E 01 80 

01:52:06.890 <ESC><VT><NUL><ETX><SO><STX>ž<SOH>€

01:52:06.906 1B 0B 00 02 0E 02 00 1E 

01:52:06.906 <ESC><VT><NUL><STX><SO><STX><NUL><RS>

01:52:06.906 1B 0C 00 03 0E 02 9F 01 86 

01:52:06.906 <ESC><FF><NUL><ETX><SO><STX>ź<SOH>†

01:52:06.922 1B 0C 00 02 0E 02 00 19 

01:52:06.922 <ESC><FF><NUL><STX><SO><STX><NUL><EM>

01:52:06.922 1B 0D 00 0C 0E 10 C8 64 19 20 00 53 03 AC 53 00 00 3E 

01:52:06.922 <ESC><CR><NUL><FF><SO><DLE>Čd<EM> <NUL>S<ETX>¬S<NUL><NUL>>

01:52:07.281 1B 0D 00 02 0E 10 C0 CA 

01:52:07.281 <ESC><CR><NUL><STX><SO><DLE>ŔĘ

01:52:07.297 1B 0E 00 03 0E 11 01 01 09 

01:52:07.297 <ESC><SO><NUL><ETX><SO><DC1><SOH><SOH><HT>

01:52:07.297 1B 0E 00 02 0E 11 00 08 

01:52:07.297 <ESC><SO><NUL><STX><SO><DC1><NUL><BS>

